AEERRE I B 12 = 8% - ERECER
6815H
AV —> (BEINAL) [ FFIIAE ) BFEki5
Xed [ FTIEEREESEFREAAETRE BABEKIRE ]
[FE1E] ( 1[E#; ) (10:29 ~ 11:55) 5@a—iLFR

F—L% | 1 2 3 4 5 6 7 8 9 10 | 11 | 12| 13| 14 | 15 Hi

BEmE| O 0 0 0 0 0
R 4 0 1 4 | 1x 10
AR EEES SN B N

® F HIB i ® F OEFKE RE

B F AW m F EH

AREFT AREFT

=847 £2¥T HO figig JIE

T T EH

it

[ 1|11
IB |_|_>

— 82T
(R SE)

[F258) ( 1EE ) (13:10 ~ 15:50)

F— L% 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 Bl
=H 2 0 0 0 2 0 0 0 Q) 10
e 1 0 0 0 3 0 0 2 0 6

=H SR M =N

R F OHSHE - 526 BO - LXK ® F MA-@H-BEA-@EF

W OF OERE H OF R

AREFT AEFT

=82F] BEZE =27 B ;A

—82¥] HHE MK 8247

G SES)




